
3) . F totally real field

Of
d

a = [F : c] , fix FC R

22 Integral ideal of OF

R positive integer

Wait : Hilbert modular forms ove F of t R and

Level n

GL2 (R) = [gEGL(R)/dng103 1 2

GLCR 29

Let GL(F) = 39tGL2(F)/detg103 a 2nd

For to Fraction ideal
, [ Integral ideal of OF





























We can depre Scal
,
T(u) action on a

Explicitly 1- adic form compatible with specializations

((m ,T((g) = [ XuNa . <Chima
, 7)

m+1

2x10, T(u)) = [Xg
. NB ·

2xp2+10, 7)
5) E

where
[b] = [tp] , [n] = [tu].
-

suppose S(u) . 8 : Xu9

and

Suppose now the correspondence o if An Comes

from a character X: Inp + 1 = 05TB
cont hom

where If denote theStrict ray class group of

F mod f StX(U) = Xu for all a prime

to up. (SCM) to if a not prime to

up)

We thee say of has characte X and delote

















F fig ocular forms over F

-f, g) = [ (m , f) ((m , g) Ni'define

before - St. <(m . 5) = urf)

Let Mr be the measure of a fundamental

doman of 2%CtxS, 2) Wr.
t.

ducz)=yaxdy

For figt Mplc) whose product is cusp form

<519)=en)5(z)glzsyau(z)
2%(txS,n)







34 .

In last section , we extend classical Eis to 1-adic

Eis naturally so that classical Eis occurs as

specializations of 1-adic ones ·

This section: do the same for cuspidal newforms.

FIX EzpITB of Fzp[T] containing p

and assure all extensions I considered below

is in ExpITD

Note that Sic , (sic)
8 . 9 . 001



For 2/Fr Finite extension (we may choose

1= zp[x][TB)

let Sich, ) = SE (n, ) *

Let Or Integral closure of 1 in L

So
,
(i , Y) submod . Whose defining data

are in OL.

Fix 3 of order pr
,
OI3JC Or

.

Kr = Frac Dr , Mo= DrETD.

Sir-Si,) , Mi=Mi,).

↑ris : Mir/CHT-3u*Min -> MaMp, Or
, XPw

**

)

well-defined and injective for almost all R.



Let who greatest divisor ofa prime to p.

Suppose JR is p-stab. New form of not

occurring in the standard decomp . For some

element in Im $p
, 3

(Fcusp form - of level in

E ! 5 = [Bifi(giz)

Bit & , fi normalized new form of

level mi , migi/m (

The if no divides level of for

=> no falge) occers in such a

decomp - for 8 + (1)


















